
N = 241

241 circles in a 1x0.20000 rectangle

radius =   0.014862284442
ratio  =  13.456881462821

density  = 0.836195945027
contacts = 636

 E.SPECHT
06-AUG-2010

N = 242

242 circles in a 1x0.20000 rectangle

radius =   0.014836179635
ratio  =  13.480559343920

density  = 0.836718572682
contacts = 637
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N = 243

243 circles in a 1x0.20000 rectangle

radius =   0.014809157149
ratio  =  13.505157517161

density  = 0.837118296262
contacts = 629
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N = 244

244 circles in a 1x0.20000 rectangle

radius =   0.014767514028
ratio  =  13.543240902010

density  = 0.835842572370
contacts = 649
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N = 245

245 circles in a 1x0.20000 rectangle

radius =   0.014753543758
ratio  =  13.556065124553

density  = 0.837680989527
contacts = 662
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N = 246

246 circles in a 1x0.20000 rectangle

radius =   0.014730251355
ratio  =  13.577500829831

density  = 0.838446390520
contacts = 579
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N = 247

247 circles in a 1x0.20000 rectangle

radius =   0.014694705450
ratio  =  13.610344261576

density  = 0.837796613888
contacts = 652
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N = 248

248 circles in a 1x0.20000 rectangle

radius =   0.014674608405
ratio  =  13.628983784728

density  = 0.838889192811
contacts = 658
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N = 249

249 circles in a 1x0.20000 rectangle

radius =   0.014649091516
ratio  =  13.652723773774

density  = 0.839345194661
contacts = 649
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N = 250

250 circles in a 1x0.20000 rectangle

radius =   0.014634379134
ratio  =  13.666449267471

density  = 0.841024195063
contacts = 528
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N = 251

251 circles in a 1x0.20000 rectangle

radius =   0.014600230403
ratio  =  13.698413961951

density  = 0.840452197768
contacts = 647
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N = 252

252 circles in a 1x0.20000 rectangle

radius =   0.014588637635
ratio  =  13.709299319234

density  = 0.842461168132
contacts = 684

 E.SPECHT
08-AUG-2010


